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@6ua 1o: (a). (Mov.0,25).

Av u(x,y) = .f (xt - y'), ppeire
661etcn og Xriorl rrl u --u(x,y).

G). Mov.1,25).
Na lu0ei ro npdBl.qpa, Cauchy:

x l , t x + l V r * U = 7 ,

6ruv u(x,y) = r ru&vctr ocq rapnrilq y = x2,
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@6uu 3o : (Mov. 1,5).
Me Xpnoq qq ouvdptqorlg Green, vcr 1,u0ei ro np6Blqpo, ouvopurcirrv
rrpiov:

A,u(x,y) - .f (x,y), {:(x,y) e (0,m) x (-oo,m),

0u(0,y)  /  \
; f-s(Y), 

Ye(-co,oo),

6nou .f , g,yuoloref oDvcprrloslq Ku,l lt 11 e(rrxeprrcrl rcu,Oeroq.

Aiveror q 0epel,rrb6qq hioq Trcr, ro Srcrqoprr6 rel.eotrl Lapiace orov IR2 :
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l , t o = u o t  - o o < : a * ,
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u(x,O) = .f (x) = nlL "'t't,\ 2
o t :0 1 rcar pcr rc60

(Yno06toupe 6cr ro np6Bl,rlpa i,pt ',

psrcr,o11 patropot Fourier. )
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@fu,a 4o: (Mov. 1,8). I
(a) Ncr Bpe0ofv or 16

I

rupoBffi pcrroq ouvoplorcrirv trprdlv:
y" (x) -2y ' (x)+ Ay(x) :0 ,  0  <x <7r ,  y(0) :  y (n)=Q.

(p) No 8iooere pto o?(6oil -opOoycow6qrlcoq 7ror; zcporcuzctet on6 ro
npoBr'rpo sut6. Vy't -Zyy'j fry'y --0'a 

l'= -gt4 C> l&)=
(y) No l.u0ei, pr rn p60o6o 'crvrinru(r1g 

os zrltlpeg o6oqpo
r8roowa,prqoeov (waL}"crcnr4 pr60o5og Fredholm), ro qpropoyw6q
rp6B\pa:

y ' (x) -2y ' ( * )+3y(x)=e 's in3x,  0(  x1E,  y(0)  = ! (n)=0.
Ofua 5o :
(a) ftIov. 1,5). Ncl avc,nrulOei q p60o6og ezciluoqg cou zupoBl,rlporog
u,pprciov Kcr,l ouvoprorciov apiov Tlc rnv e(iocrlorl 0epp6rqrog:

u, (x , t )=uo(x, t )+  f  (x) ,  0<r  <L,  t>0,

u(0, t ) :a ,  u(L, t )=6,  t  )0 ,

u(x ,0)= B(x) ,  0<x<L.

G) (Mov. 0,5). Na replypoqst o cp6noq eriluoqq rou (a) ov raf ,a,b,
etvar: f = .f (x,t), a: a(t), b:b(t) .

Ofua 6o : (Mov. 1,2).
Me Xpnon roo peroomprc,aopof Fourier, vo lu0ei ro
np6Blqpcr:
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